PRECALCULUS Review Sec. 5.1-5.3 NAME MOD

Convert the angle to a decimal in degrees. Round the answer to two decimal places.
1) 23°47'37" 1)

Convert the angle to D° M' 5" form. Round the answer to the nearest second.
2) 81.9¢° 2)

Convert the angle in degrees to radians. Express the answer as multiple of .
3) 105° 3)

Convert the angle in degrees to radians. Express the answer in decimal form. If necessary, round to two decimal places.
4) -137° 4)

Convert the angle in radians to degrees.

5) 2% 5)
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Convert the angle in radians to degrees. Express the answer in decimal form. If necessary, round to two decimal places.
6) 5 | 6)

" Find the length s. Round the answer to three decimal places.
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If s denotes the length of the arc of a circle of radius r subfended by a central angle0, find the missing quantity.
r =% feet, s =10 feet, 0 =7 8)

If A denotes the area of the sector of a circle of radius r formed by the central angle®, find the missing quantity. If
necessary, round the answer to two decimal places.

9) r=13 inches, 8 = 5 radians, A =7 : 9)

Solve the problem.
10) A ship in the Atlantic Ocean measures its position to be30°36' north latitude. Another ship ~ 10)
is reported to be due north of the first ship at39°20" north latitude. Approximately how far
apart are the two ships? Round to the nearest mile. Assume that the radius of the Harth is
3960 miles.

11) A circle has a radius of 4 centimeters. Find the area of the sector of the circle formed by an ~ 11)
angle of 25°, If necessary, round the answer to two decimal places.




12} An object is traveling around a circle with a radius of 10 centimeters. If in 20 seconds a 12)

central angle of % radian is swept out, what is the linear speed of the object?

Find the exact value. Do not use a calculator.

13) cosg 13)
14) cot 2 ' - 14)
18) sec (-n) ‘ ' 15)
16) tan45° 16)
17) csc= _ 17)
6
18) tan (25n) : : 18)
19) sin 405° - 19}
20) cot 930° 20)
21) coslg’ﬁ | 21)
223 seclfin« 22)

Find the exact value of the expression. Do not use a calculator.

23} sec 60’ - cos 30° . ) 23)
Use the even-odd properties to find the exact value of the expression. Do not use a calculator,
- m
-24) sin [— 4] 24)
25) cos (-60°) . 25)

Use a calculator to find the approximate value of the expression rounded to two decimal places.

26) tan78° 26)
27) csc31° : 273
28) cot0.1845 _ : ' 28)




Name the quadrant in which the angle 0 lies.

29) tan@ <0, sinB<0 29)

30) cos0 <0, escO<0 30)
Use the properties of the trigonometric functions to find the exact value of the expression. Do not use a calculator.
sin 70 31)

cos 70

31) tan70° -

© 32) sec? 80° - tan? 8(° 32)

A point on the terminal side of an angle 8 is given. Find the exact value of the six trigonometric function of.

33) (4,-5)

In the problem, sin 8 and cos 0 are given. Find the exact value of the remaining trigonometric function.

~f15

) sing =L N1
34) sm6—4,c056- "

Find the exact value of the remaining {rigonometric function of0.

35) cosﬁ=—§—, tan@ <0




Answer Key
Testname: PC REVIEW 5.1-5.3

1) 23.79°
2) 81°57'36"
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4) -2.39

5) 162°

h) 286.48°

7) 7.33 em
- B) 15 radians

9) 422.5in?
10) 604 mi
11) 3.49 cm?

12) % cm /sec

13) ¢
14) undefined
15) -1
16) 1
17) 2
i8) 0

19)

[

2

=)

20)
1
21) - )

22) -2
g5 423

i

24) -

] N
%

1
25) =
26) 4.70

27) 1.94
28) 5.36
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30) I
31) 0

32) 1
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